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BIEIEE: S02
45 58 61 78 8H 98 10H 118 128 18 2H 3H A&t
W2+ B ET HhAIE AR 27 31 28 31 31 30 29 30 31 31 28 31 358
B 7 B RS 670 738 690 738 737 715 713 714 736 740 663 739 8593
F 15 {E (ppm) 0.001 0.000 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.001
1B REEAN0.1ppmZ B Z T-FE 1 8 0 0 0 0 0 0 0 0 0 0 0 0 0
A F ) {EH0.04ppmZE#E 2 1= A 3 0 0 0 0 0 0 0 0 0 0 0 0 0
1R B O & & fE (ppm) 0.008 0.004 0.004 0.004 0.003 0.005 0.006 0.006 0.008 0.009 0.009 0.009 0.009
B FED = E(ppm) 0.003 0.002 0.001 0.001 0.001 0.001 0.002 0.002 0.003 0.003 0.003 0.002 0.003
ERLIER ADAE AR 30 31 28 31 31 30 29 30 31 31 28 31 361
i8I 7 B RS 715 740 688 738 738 715 714 715 738 740 666 739 8646
15 {E(ppm) 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.001
1BE R {EAY0.1ppmZ B Z 1= B RA 2 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EA0.04ppmZEHE X - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BF B 0D 5 &= B (ppm) 0.009 0.007 0.007 0.021 0.022 0.008 0.010 0.010 0.007 0.013 0.020 0.018 0.022
B H{ED R E(pm) 0.003 0.001 0.002 0.002 0.003 0.001 0.002 0.001 0.002 0.004 0.003 0.002 0.004
A ILIFER] & B HhAIE AR 30 31 28 31 31 30 29 30 31 31 28 31 361
B 7 B 714 740 690 738 739 715 713 715 738 737 666 739 8644
F 15 {E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.000
1B REEAN0.1ppmZ B Z T-FE 1 8 0 0 0 0 0 0 0 0 0 0 0 0 0
A F ) {EH30.04ppmZE#E 2 1= A 0 0 0 0 0 0 0 0 0 0 0 0 0
1R B O & & fE (ppm) 0.007 0.003 0.001 0.001 0.001 0.001 0.001 0.003 0.002 0.003 0.005 0.002 0.007
B F#ED &= E(ppm) 0.003 0.001 0.001 0.000 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.003
KiR&ith ADAEARK 30 31 28 31 31 30 29 30 31 31 28 31 361
i8I 7 B RS 715 739 690 738 736 715 712 714 738 740 665 739 8641
15 {E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.001 0.000
1BE R {E AY0.1ppmZ B Z 1= B RE £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B F ¥ {EA0.04ppmZEHE 2 - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BF B O 5 &= IE (ppm) 0.009 0.003 0.001 0.002 0.002 0.001 0.001 0.005 0.006 0.005 0.005 0.004 0.009
B H{ED RS E(pm) 0.003 0.001 0.001 0.001 0.000 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.003
RHEEH HahAIE AR 30 31 28 31 31 30 29 30 31 31 28 31 361
B 7 B S 715 740 685 738 739 715 713 714 738 740 667 739 8643
F 15 {E (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.000 0.000
1B REEAY0.1ppm & #B 2 T-FE 1 8 0 0 0 0 0 0 0 0 0 0 0 0 0
A F ) {EH0.04ppmZE#E 2 1= A3 0 0 0 0 0 0 0 0 0 0 0 0 0
1R B O & & fE (ppm) 0.013 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.005 0.005 0.003 0.009 0.013
B F#ED = E(ppm) 0.005 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.001 0.005
HREER ADAEARK 30 31 28 31 31 30 29 30 31 31 28 31 361
i8I 7 B RS 712 739 690 739 738 714 714 714 737 740 666 739 8642
15 {E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1BE R {EAY0.1ppmZ B Z 1= B RA 2 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EA0.04ppmZEHE X - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BF B 0D 5 &= B (ppm) 0.012 0.005 0.006 0.006 0.005 0.004 0.003 0.002 0.002 0.002 0.002 0.003 0.012
B H{ED R E(pm) 0.003 0.001 0.001 0.001 0.000 0.001 0.000 0.001 0.001 0.001 0.001 0.001 0.003




SEEETE HhAIE AR 30 31 28 31 31 30 29 30 31 31 28 31 361
B 7 B 714 739 690 739 738 715 716 714 738 738 666 738 8645
F 15 {E (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B {EAY0.1ppmZ #B 2 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
A F ) {EH30.04ppmZE#E 2 1= A 3 0 0 0 0 0 0 0 0 0 0 0 0 0
1R B O & & fE (ppm) 0.011 0.014 0.007 0.011 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.014
B F#ED = E(ppm) 0.003 0.002 0.001 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.003
SER LM HahBlERA S 30 31 28 31 31 30 29 30 31 31 28 31 361
i8I 7 B RS 714 739 688 739 738 715 711 714 737 739 666 738 8638
15 {E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B {E AY0.1ppmZ B Z 1= B RE 2 0 0 0 0 0 0 0 0 0 0 0 0 0
B ¥ {EA0.04ppmZEHE X - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BE R B 0D 5 &= B (ppm) 0.010 0.003 0.002 0.009 0.004 0.002 0.004 0.002 0.001 0.002 0.001 0.002 0.010
B H{ED R E(pm) 0.003 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.003
373 AHhAIE AR 30 31 28 31 31 30 29 30 31 31 28 31 361
B 7 B RS 712 739 689 739 737 714 716 715 737 740 666 739 8643
F 15 {E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B {EAY0.1ppmZ #B 2 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
A F ) {EH0.04ppmZE#E 2 1= A 3 0 0 0 0 0 0 0 0 0 0 0 0 0
1R B O & & fE (ppm) 0.011 0.003 0.003 0.005 0.004 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.011
B F#ED = E(ppm) 0.003 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.000 0.001 0.003
EJE] ADAERAHK 30 31 28 31 31 30 29 30 31 31 28 31 361
i8I 7 B RS 714 739 688 739 738 715 719 714 737 738 666 738 8645
15 {E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1BE R {EAY0.1ppmZ B Z 1= B RE 2 0 0 0 0 0 0 0 0 0 0 0 0 0
B ¥ {EA0.04ppmZEHE X - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BE A B 0D 5 = B (ppm) 0.011 0.005 0.002 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.003 0.011
B H{ED R E(pm) 0.003 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.003
ERfE SR AT HhAIE AR 30 31 28 31 31 30 29 30 31 31 28 31 361
B 7 B RS 714 738 689 739 738 715 714 714 738 740 666 739 8644
F 15 {E (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B B AY0.1ppmZ #B 2 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
A F ) {EH0.04ppmZE#E 2 1= A3 0 0 0 0 0 0 0 0 0 0 0 0 0
1R B O & & fE (ppm) 0.009 0.004 0.002 0.002 0.001 0.001 0.005 0.004 0.004 0.002 0.005 0.005 0.009
B F#ED = E(ppm) 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.002
FETH ADAE AR 30 31 28 31 31 30 29 30 31 31 28 31 361
i8I 7 B RS 715 739 688 739 738 715 720 714 738 740 666 738 8650
15 {E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.000 0.000
1B {EAY0.1ppmZ B Z 1= B RE £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B F ¥ {EA0.04ppmZEFHE R - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B A B 0D 5 = B (ppm) 0.006 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.003 0.003 0.003 0.004 0.006
BEHEDZEE@pm) 0.002 0.001 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002




